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1 :
. The curve of the function SRRV Sy

f:f(x) =x3 - 6 x* has an inflection o 9580 Lo 1= = () 2
point at the point: ......... .| :alagl) die OO

@ (0,0 SN0,
® “,-32) (-5 ©

wwyjailledg o



2 secxtanx
(1+sec x )2

®
®

secxtanx
(1+sec x )?

2sec? xtanx
(1+sec x)?

sec? x tan x

@

(1+sec x )?

d

en _y: .................. uas
dx

o s

u“\; —uac,d\g\;\
u‘B’L‘ )
L LBy

o B
"(rB+1) @
oL B ®
(o B+Y)
LBy

o B

(o B+1) @
W .6

o B
r(u»\.§+\) @

wjailleig ol



Find the equations of the tangent and the | $5sdly rleadl  Aslae o]

normal to the curve : O-0L- B >l

x=sin0,y=tan65in6at9=§ T _ Qe
¢
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€A Find the area of the region bounded by | o el didatdl dls sgl
the curve ¥ = 4 — x? and the straight line em b= o ol

y=2—Xx w'V:u‘Mf I9
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Ifx=CSC26+1,y=C0t9,thenZ—y:
X

wwyjailledg o



n A point moves on the x — axis such that
its velocity at any time t is given by the
relation : v = lnTt , then the value of t

in which v has its maximum value is
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If xy = sin ax such that a is constant , ol el Pl = o e 08 13)

$ %
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L 2 Y L 24 —
Provethat.xdx2+2dx+axy_0 C= e
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Find the volume of the solid generated | 01052 (» (AW el o2 S|
by revolving the region bounded by o)l ausall At
the curve y = v/x, the x — axis and the =P

: : : 4= M Ly Oldl ) g
straight line x = 9 a complete revolution w " T G
. .uw\‘)y‘ﬁd?&n\g@_jb

about the x — axis .
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The function f:f (x) =x +3x-5 0 - ¥ + = () 5 > A
is increasing foreachxe ... | e D o S Bl 3 0SS
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Find the possible maximum area for Sl s dolas ST sl

the isosceles triangle whose perimeter e T8 ddame (LN g slute
equals 24 cm
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Ify = xS"* then

dy _
dx

; sinx
xS x (T+ COS X lnx)
xS* (sinx + cos x)
sinx 1
X ;+ Inx

xS™X (sinx + cos x Inx)
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Answer one of the following items : S I o, sl e

(A) Find the local maximum values, Aol el @B sl ()
the local minimum values and the Ly Al Al
inflection point (if exists ) of the > A (azg b DABYI
function f: f(x) = x> —12x +12 WY o VY = = (o) G

(B) Prove that the measure of the Joo &5y A O = ST(Q)
inclination angle of the tangent to the e
curve of the function f: f(x) = 1_xe oVl e v;»\ = (o) w2
at the inflection point of its curve with | das e Slidl | god 54l
the positive direction of the x - axis T gl DA soidd CABY
equals % ’
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[(1+ tan* 0 ) dO =

® 0066

sec?0+c

tan 6 + ¢

tan®* 0 +c

sec 0 tanf + c
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If the curve of the function y = f(x)
passes through the point (0 , i) and

Z_j: = e_—;z and f (x) > 0 for all values of
x,then f(x)=...............
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° ° ."...-‘ R ».\ \. T
Answer one of the following items : R (IR -EU TR C e

' * P

(A)Find : [ x2 (x + 1) dx F (\:Lu‘)ru‘\‘*??((;
v S (-

(B) Find : [ %3 e** dx o 5 -@wl A
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